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TOTAL MARK (420 Marks)
|. VOCABULARY (50 Marks)

A) From a, b, ¢, and d, choose the most suitable word that best completes each of the
following sentences: (5 x 5 = 25 Marks)

01-Kuwait offers aids to many countries around the world .......... o in Africa.
a- entirely b- recently c- courteously d- notably
02- Air pollution usually results in ................... that threatens traffic on highways.
a- reputation b- radar C- SMog - - d- barter
03- The policeman ................... the careless driver to follow the rules to avoid fines.
a- enjoins b- diminishes c- invests d- aviates

04. Natural sources of non-renewable energy should be conserved as they are ...................

a- finite " b- obedient c- stunned d- emotive
05-Many species of animals are endangered of being ................... due to pollution and
poaching. \

a- acclaimed b-extinct c- frequent d- monotonous

B) Fill in the spaces with the most suitable words from the list below: (5 x 5 =25 Marks)

waste - intensely - overtook - auction - actually - trespassed

06- Some people believe that discussing problems is a/an ................... of time.

07- The taxi driver ........cc......... a lorry and hit another car powerfully last night.

08- There’s a/an ..........c........ for jewellery at 9 p.m. next Monday. We shouldn't miss it.
09. The man was arrested because his fishing boat ................... into restricted waters.
10- Last winter, it rained so ................... thatwater flooded in the streets and submerged

some cars.
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II-GRAMMAR (40 marks)

A) From a, b, c and d, choose the correct answer that best completes each of the
following sentences: (4 x 5 =20 Marks)

11- You are to blame for the accident. If you had been careful, you ................... it.

a- will avoid b- would avoid c- would have avoided d- could avoid

12- My grandfather ................... wear glasses when he was young, but now he does.

a- haven't used to b- used to c- isn't used to . d-didn't use to

13- We have to work ................... so that we can finish the project before the deadline.

a- hardly b- hard c-as hard d- hardest

14- Although there was a strong dust storm this morning, he ................... get to work on time.
a- was able to b- can c- should ° d- must

B) From a, b, and ¢, choose the correct answer as required: ( 4x 5= 20 Marks)

15. The taxi driver found a bag full of money in the taxi .
( Change into passive )
a- A bag full of money found in the taxi.
b- A bag full of money has found in the taxi.
c- A bag full of money was found in the taxi.

16. My friend didn't invite me to his birthday party last Friday.
: (Start the sentence using : | wish)
a- | wish my friend is inviting me to his birthday party last Friday.
b- | wish my friend has invited me to his birthday party last Friday.
c- | wish my friend had invited me to his birthday party last Friday.

17. " I'll buy you a new mobile phone next week," said my father.
( Change into Reported speech)
a- My father said that he bought a new mobile phone the week after.
b- My father said that he will buy a new mobile phone the week before.
c- My father said that he would buy a new mobile phone the week after.

18. The old man was taken to hospital. He had a sudden heart attack.
( Join with: who)
a- The old man, which had a sudden heart attack, was taken to hospital.
b- The old man, who had a sudden heart attack, was taken to hospital.
c- The old man, whose had a sudden heart attack, was taken to hospital.

Scanned with CamScanner


https://v3.camscanner.com/user/download

A asedaall — P sty 01 3 RGN = 20232022 ety A pladl gty - il cinaall (oniad

l1l- LANGUAGE FUNCTIONS (40 Marks)

Write what you would say in the following situations: (4 x 10=40 Marks)

19- Your friend wants to know which college you want to join.

........................................................................................................................................

21- You want to travel to London with your friends but your father refuses.

................................................................................................. g R M Mo ccasncesnn
22- You are about to go to the railway station, but youdon’t know how to get there.
S PRI RP- L Tywy, . USTRITRDRD. &, ¥ . :.I.............\.. .....................

)
-

IV- SET- BOOK QUESTIONS (30 Marks)

Answer only (THREE) of the following questions: (3X10=30 Marks)

\

23- Why is the use of fossil fuels bad for the environment?

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

LA R R R RN L L EREENRSEREERE-ENBSESRSE:RE:) .‘............\n ................................................................................................

nn

Scanned with CamScanner



https://v3.camscanner.com/user/download

sty Asediaall — AN sl i1 3 Al — 20232022 gty Al pladl ot el - piladl Caaall (slonial

V- WRITING (100 Marks)

Write on the following topic: (Persuasive)

Energy is a controversial issue these days. A lot of people are not fully
convinced that renewable energy is a practical solution {or energy crisis.

Plan and write an essay of 14 sentences (140 words), persuading your friends why
renewable sources of energy are a necessity and suggesting some p‘ractlca\l ways to save
energy. ‘

)
-

NB: (Your writing should include an introduction, a two- paragraph body and a conclusion)
o

Outline (2'0 Marks) °

Introduction: = \ |

(
oooooooooooooooooooooooooooooooooooooooooo ‘oooo.o u\oooouo (R RN R REL WL R m‘o\coroonoj‘ocoooooooooooooo L N R R R R Iy
.......................................... \.‘n_-_.:\oou.u.o:\uuu oolq:'.oooooooooo.oooooo T T N R L R R R R R I
Body > ~
Paragraph (1) ")
................................................... ’OT..OQCOCOOO..OOCOOO AR A AL R LA LR AL R AL R A A R R R R R R T R R e s s s I I MMM T T T T YT
Paragraph (2)
Conclusion:

TS

~ Scanned with CamScanner



https://v3.camscanner.com/user/download

rwnalu! rsmdiaall = AU sl y ) 3 Al = 20232022 (gt yld| pladt s pon - piladl iaall (olonial

------------------------------------------------—-------------------------------------------w:s::-------------------

- - ———_——— - ———— ———— - ——— - - ---m----“m--...““m-“.-.ﬁ-‘-----l--------

A

T IS R TP D T D TR TR AN EhED ST AR W - - e - ST R TEb D T I T S - - - P S E>a» TS T S - R, - — - - — - ~..).--m----ﬁ.--- TS GRS D b T e -

\

.

N
KR )

D R |
‘ ).

- W

“--'

- G euy e = - - -_-— -...-...--.---.......w - ’w--~ . - - - o A ST W -— ad — - -

N

o Y \ .

)

..............................................................................................................................
AR TR A AT R TR RS TR ST T T T AT A A AR T T T T TR AR TR A A TR T AR R AR R G TR GRS T AR S AR AR TR TR AR TR T A AT R AR TR AR T TR AR T AR TR AR R TR AR GRS TR S AR AR AR R GRS R R W R RS SRS GRS S WS WS W WA .-
S WS D EN IR GE ED I GD GR GD R SN D GE G D G G G D GD GO GID WO P G GP G Gl Gh GF GD GE TGP WD P P @S N EF G G G G @R @D EP ES R P P G GR GP Gl P @GP GP G GP @R I G GP GP @GP G @GP GP @D P D G GIP WP ED GR G G P G GP GP TGP R G @D G G P GID P @GP WP P GID G @ GR b GP G G G GP GP @GP G G ED @D R WD W Gl G GD @GP @D G - G -E . G
..............................................................................................................................

Exposition of | Paragraphing
ideas & & number of

coherence sentences

Hw., spacing &
punctuation
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VI- READING COMPREHENSION: (80 Marks)
Read the following passage carefully, then answer the questions below:

People think children should play sports. Sports are fun, and children stay healthy while
playing with others. However, playing sports can have negative effects on children. It may
produce feelings of poor self-esteem or aggressive behaviour in some children.

According to research on children and sports, 40 million children play sports in the US.
Of these, 18 million say they have been yelled at or called names while playiﬁg sports. This
leaves many children with a bad impression of sports. They think sports are just too
aggressive. Many researchers believe adults, especially. parents and coaches, are the main
cause of too much aggression in children’s sports. They believe children copy aggressive
adult behaviour. This behaviour is then further reinforced through both positive and
negative feedback.

Parents and coaches are powerful teachers because children usually look up to them.
Often these adults behave aggressively themselves, sending children the message that
winning is everything. At children’s sporting events, parents may yell insults at other
players or cheer when their child behaves aggressively. As well, children may be taught that
hurting other players is acceptable, or they may be pushed to continue playing even when
they are injured. )

In addition, the media makes violence seem exciting. Children watch adult sports
games and see violent behaviour replayed over and over on television. As a society, we
really need to face up to this problem and do something about it . Parents and coaches
should act as better examples for children. They also need to teach children better values.
They should teach children to enjoy themselves whether they win or not. It is not necessary
to knock yourself out to enjoy sports. Winning is not everything. In addition, children should
not be allowed to continue to play when they are injured. Sending a child with an injury
into a game gives the child the message that health is not as important as winning. If we
make some basic changes, children might learn to enjoy sports again.

A) From a, b, c and d, choose the correct answer: (6 x10= 60 Marks)

27. What is the main idea of the passage?
a. Children often become like their parents.
b. Children need to play sports in school.
c. Playing sports may have negative results.
d. Some sports can cause health problems.

28. Which of the following words best defines “poor self-esteem” in the 1*' paragraph?
a-honour
b- selfishness
c-humiliation
d-loyalty
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29. What does the underlined pronoun “They “ in the 2" paragraph refer to?
a- coaches
b- parents
c- sports
d- researchers \

30. According to the passage, the main cause for aggression-in.children’s sports is:
a. Adults \
b. Children with low grades in school \
c. New rules in sports
d. Other players

31. According to the passage, one of the following statements is NOT TRUE?
a- Children sometimes have bad impression about qurté.
b- Adults are the only cause of too much aggression.
c- Parents and teachers are the role model for children.
d- Winning isn’t the only source of enjoyment.

32. The writer ‘s purpose in writing this passage is to:
a. show the relation between parents and coaches.
b. explain why ;Sl\aying sports is important for children.
c. persuade readers to let their children spend much time playing sports.
d. inform readers about the negative effects of playing sports on children.

B) With reference to the passage, answer the following questions: (2x10=20 Marks)
33. Why shouldn’t injured children be allowed to play sports?

........................................................................................................................................

0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

VIl - SUMMARY MAKING (60 Marks)
Read the following passage then do as required:

Pollution is the contamination of the environment which causes harm to the environment
orits inhabitants. There are many pollutants that cause different kinds pollution. Air pollution
can be caused by particles, liquids, or gases that make the air harmful to breathe. Soil
pollution can be caused by pesticides, leakage from chemical tanks, oil spills, and other
chemicals which get into the soil by dumping or accidental contamination. Water pollution
can be caused by waste products, sewage, oil spills, and litter in streams, rivers, lakes, and
oceans. Radioactive pollution can be caused by leaks or spills of radioactive materials. These
materials can come from medical sources, nuclear power plants, or laboratories which handle

radioactive materials.
02
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In a paragraph of FOUR sentences ONLY, summarise and paraphrase the above passage
in answer to the following question:

What are the different types of pollution and their causes?

YT TV ) S
L )
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" it Paraphrasing Spe;lllng and Paragraph format | Total
2 /relevance of ideas 1= grammar
2 30 7 N\ 20 = ’ 5 5 60
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\\ Vill- TRANSLATION

Translate the foll\omgg into good English: (2x10= 20 Marks)
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